
Что  ты  знаешь  о  числе? 

Что  ты  знаешь  о  числе? Что  ты  знаешь  о  числе? 

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

2649=______+______+___+__  

Предыдущее 

число 

Следующее 

число 

Чётное 

Нечётное 

Предыдущее 

число 

Предыдущее 

число 

Предыдущее 

число 

Следующее 

число 

Следующее 

число 

Следующее 

число 

Чётное 

Нечётное 

Чётное 

Нечётное 

Чётное 

Нечётное 

Что  ты  знаешь  о  числе? 

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

5920=______+______+___+__  

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

8403=______+______+___+__  3065=______+______+___+__  



Что  ты  знаешь  о  числе? 

Что  ты  знаешь  о  числе? Что  ты  знаешь  о  числе? 

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

47381=______+_____+____+___+__  

Предыдущее 

число 

Следующее 

число 

Чётное 

Нечётное 

Предыдущее 

число 

Предыдущее 

число 

Предыдущее 

число 

Следующее 

число 

Следующее 

число 

Следующее 

число 

Чётное 

Нечётное 

Чётное 

Нечётное 

Чётное 

Нечётное 

Что  ты  знаешь  о  числе? 

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

21836=______+____+____+___+__  

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

91306=______+____+_____+__  65088=______+______+___+__  



Что  ты  знаешь  о  числе? 

Что  ты  знаешь  о  числе? Что  ты  знаешь  о  числе? 

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

999586=______+_____+____+___+___+__  

Предыдущее 

число 

Следующее 

число 

Чётное 

Нечётное 

Предыдущее 

число 

Предыдущее 

число 

Предыдущее 

число 

Следующее 

число 

Следующее 

число 

Следующее 

число 

Чётное 

Нечётное 

Чётное 

Нечётное 

Чётное 

Нечётное 

Что  ты  знаешь  о  числе? 

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

901385=______+_____+____+___+__  

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

В  числе  всего___тыс                         

_____сот.                        

______дес.                            

______ед.                    

750690=______+______+____+___+__  300549=______+______+___+__  


